
    
Engine Guard Extension
      F650GS/ Dakar

 February 2002

Parts included:
1 x engine protection extension BMW F650GS
4 x rubberized clips 22mm 
4 x countersunk screw M6x16 
4 xnut self-locking M6 
4 x washer M6

01-040-1253-0

Assembly:
The engine protection is installed with the four rubberized clips, �
four M6x16 screws, four washers for M6 and four self-locking �
M6 nuts. Position the engine protection in such a way that the �
pivot of the centerstand locks with the edge the engine protection.
Make certain that the retaining clips are behind the engine protection 
(see illustrations).  It is possible that during installation the protection �
retaining clips can be be put on backwards on the centerstand. 
Tighten all bolt connections evenly. 
 

After approx. 50 km travel inspect �
all screws and tighten if necessary.

TOURATECHTOURATECH
TOU R A TECHRING   ALLYE   R CING    NOLOGY

This guidance is written after our present level of knowledge.   Legal requirements on correctness do not exist.   Technical subject to change.   


